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fWrite your Roll No. on the top immediately

on receipt of this gquestion paper.}

Note o ¢y Answers may be written either in English or in
Hindi: bur the same medium should be used

throughout the paper.

(ii; The maxinuan marks printed on the question paper
are applicable for the students of the NCWEB.
These marks will, however, be scaled down
proportionately in respect of the studenis of
regular colleges (Cat. *A’) at the time of posting

of wwards for compilaiion of result.
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_All guestions are compulsory.

Lse separate answer sheets for Part A and B.
All gquestions of each section should be attempited
together. Log tables and other statistical
tables shall ke provided on demaned.

Use of simple calculator s allowed.
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I, (a) A firm produces 3 products — X. Y and 7 requiring
mix up ot 3 materials A. B and C. The per unit
requirement of each product for each material are

given below —
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Using matrix notation determine :-

(i) Production of each product if firm has
2900, 1100 and 1450 units of each material
respectively.

{(ii) Total requirement of each material if the firm

produces 200. 300 and 1060 units of the three
products respectively. (7

OR

{(b) A firm has two machines costing Rs.50,000 and

(=)

Rs. 10.000. Both have 3 years life with a scrap
value of Rs. 5,000 and Rs. 10,000 respectively.
Find depreciation of cach machine for each year
using matrix notation if (i) Both are depreciated
by sum of the vears digit method: (ii) both are
deprecialed by straight line method; (iii) if first
machine is depreciated by sum of the years digit
method and second by straight line method. (7)
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> {a) The demand and supply functions of a product ar¢c
X = (100-p’y “and P = 5-X/2. Find price

elasticity of demand and supply at equilibrium price.
OR
Verify that }Ep - AR/AR-MR) for the price

function P = 25et X400
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The démand{ l'uncl'-i".pn of a product i~ N =00
fog {10/P) where X :'_u‘nih‘. are demanded ana price
is Rs. P pclf---unil. F::ilrui price and quantity where
total revenue. is inaxj.imi/s.-d, Alsoverity that price
elasticity of demand. is unitars @ tiis level
OR

A machine costs Rsi12.000. Tts cost of operation
of X ovears is givenby ZONT - PIND Ity serap value
at the end of N svears is oiven by 63840 6ON"
Find its optimum"rL‘plncmncm period and the

corresponding per vear total cost

Marginal revenue funciion of a product is wiven

by MR({ N)= - ---—7 - o Show that corresponding

OR

Marginal cost function of a product s MOUN)Y -
2o Find the corresponding total and average

cost function it I]\ed cost iy Ra. 2004, (4-3)
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A sum ol money myested at 4 o pa. compoeunded
annually gives an interest of Rs 23 10 the second

vear. Find the interesi of third year
OR

Distinguish between interest and discount Ao
state the relanonship between tw rates 1f both

are compounded anpually.

State the relaticnship between nomuns and the
ctfective rate of interest when compounding 1o ()
m times in a rear. (i) wheo compeunding i
continuous.
OR

A sum of moneviinvested o 20% p.a. for
(wo veurs fetchesiRs, 482 more it interest s
compounded semi-dnnuatly instead of annually.

P
3

Find the sum. 3+
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